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14 | 2¢ | 34 | 44 | 5¢ | 6¥ | 74 | 8¢ | 9¢ |10¥ | 11¥ | 12¢
14(A) | 5717 | 5489 | 7,366 | 8,274 | 10926 | 14,149 | 6,980 | 5878 | 5,217 | 6,222 | 5212 | 6,206

—
M
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JHBA| 110 | & 89 93 83 106 = = = - = s
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'15(B) | 6,765 | 6,706 | 9,855 | 15385 | 17,104 | 15642 | - - - - - ~

UHIBA| 163 | 194 | 172 | 168 | 141 | 162 - - - - - -
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<EY 1>
B2 F5HE HAE(EA — AL, 71EAAR)
ZAY 15, 6 (9] @ kg, %, v, AE)

St = 7 9 H & A s 27
A
Al B A A | 12000 381 | 5000~65009/3, 358 M kg 43
A}

= 8 7 ¢ 121.1 39 1,090,00041/450/37}/20kg

- AN =120 Dx29, (])80H L x10™

A} - )y - 5049
A4 |z F A4 A 610 19 - 1,2009/20kg A2}
£ - Hlo]Z : 1,00091(50°37}/20kg)
T | & % H| 639 20 570,000 ~580,0009/450732}/20kg
o]

7 g ] 612 20 w3l 7ke) 51%

o] % 1362 43
z | 8 2} H] 126 0.4 2519/20kg
}]‘ B4 & 2 o8| 60 02 | nEAae 4
A
T4 g 2 A 17250 548

) % = 125 04 9509/20kg
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- 7r s H] 83.0 28 HEFen], an], A7 T
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g W 7 A | 31500 1000
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LEd >
B2 504 HAE(EA - AL, 5EFF)
ZX9 115, 6 (29 © kg, %, 1, AF)
F B = H & A=t ]
w7 4 3 74 | 12330 414
G T 1211 41 | 1,090,00091/450%71/20kg
/1\1_
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] & | 7666 239

# & 7 7 3,200.0 100.0
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20158 F2 S4E RSUH

<EY o
B2 frul S WAE(IE - AHE, FFEFE)
2k 115, 6 (28] © A/kg, %, 0, AE)
+ & = o H & Az 27
T 7+ 3 7 4 1,3125 44.0
Bz a3 99 1322 44 1,190,000%1 /45023 21/20kg
)‘\_]_
A - A AN=(h)1204 =21, ()90 %10
-~ - a9 5039
A
Al E o F A 415 14 - kg A 10009 (A A 10~20%)
2} - o] Z : 1,000 (50%3/20kg)
ot
A o % . 06 14 380,000 /450 21/20kg
- e A48 27
5 g 1212 41
T olw oM 4+ = 52.0 17 | @A 4%
g
‘?F'
= [ # W 7 A | 17000 | 570
3 7+ A H] 763.0 268 | AExFEM], AN, A 5
[
i}
2 | 9 £ 512.0 172
=
Bolw owm o 4| 2900 | 1000
s A HH HsUY
- 48 zedn] ¢ (14) 12228 /kg — ('15) 1322
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1. ABRE - 22 1.
A_II
=13
£
LY 5 _ . . i g
72 f850 € "AE(TFY] - AL, 7HEAA)
ZX19 115, 6 (29 : Qkg, %, 51, )
ok 5 = 9 H & A= 2
xg )
H x4 a4 7 | 1250 383 | 6000~8000¢/3, 3536 A kg &
7
2 3 2 9 1211 38 | 1,0900009/450°4 2/ 20kg
~ QAN =(¥H 1203 9x21, ()803 $Ix109
AL - ARy 50HY
|
- 1,2008/20kg A
= +
| ® 3 A el 14 - Hlo] Z : 1,000% (50°44}/20kg)
=
j] & & ) 40,0 12| 360,0009/450°32/20ke
Tl wm | ws 20 | pepriasl 51%
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= 3} 2 H] 125 04 2519/20kg
Tla a2+ 2| 20 22 | AB7HAS) 4%
Al
4 | 2 & 7 A | 1800 56.3
| & = 125 04 | 2509/20kg
<)
= | 2 A Bl 918 28 | AEA], Ay, AR 5
uf o] RN 245.7 T
Tla w4 Al am0 | 62
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=l oow om | 24 73 | AT, AN, IAE 5
u
! o] s | 56 239
A}
# W 7 A | 32000 100.0
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0158 F2 SAE SEAH
<E4 6>
203 $50 S BALTY > AL, HFA)
249 15, 6 (@9 Ukg, % SV, 4F)
i 5 7 9 H] & A=l
W | B A AR | 1527 | 43
:L: £ 8% 2% 9 v | 1211 38 | 1,000,0009/45042}/20kg
. - 18 =120 L x2H, (¢4)80H ¥x10'8
4 - el 5089l
Tl g A v 326 10 | - 1,1509/20kg A=}
A - HolZ : 1,000 (5073 21/20kg)
: & - ) 400 13 | 360,0009/45042}/20kg
- 90 0.3 AZ749 05%
= | & 2 v 126 04 | 2519/20kg
j o e o= | mo | 22 | Awame a
042 2 7 A | 1800 5.3
_| % El 125 04 | 2509)/20kg
claa w | ws 20 | mEmeE, Ay, YRR F
AN & | 2439 76
o)
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1. Azne - 274 1.
A_||
2F
E
<2l 7> . B . =
B4R 15108 WAZ(ITA - A2, 7HEAR)
2444 15, 6 (@9 Ukg, % v, )
7o Zo | g B2 27
A
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3
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A
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; & 5 o) 50.0 16 | 1,000~12009/20kg
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A
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A
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A
MU R 20 | 6009/10kg
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At sl AR = Me, 7R

A4l (@] © kg, %, S0, AE)
5 = 9 H & A& 27
. % 2 7 149%5 | 468
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